EARAROBEEIERT — 2 N— IBISH —F

2019518148 (B) 1EIFW5H

m:?t;,jm G3 ¥5R3k (BER) (e BE [l [(mm — 2 o) oo &
[A&4] 1 7 238,000,000 § ~ 2 3% :15,000,000 @ . 3 7 :9,500,000 @ . 4 7 :5,700,000 @ . 5 7& : 3,800,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= = 4t 3 | C. bx—) 2:01.2 2-2-2-1 [35.3[101.4| 4 456 | FHEEX (EH)
1 ¢ RIS 56.0 - Go | B HAL-X£-2
R:JGTUR N B —F HETr—L
= g . 0. ¥v—714— :01. 30— . . BORMME (Em)
ol5|5| 7> 7tO—ER 4 3 o 1 (21011/44) 3-32-2 | 35.4]99.2 | 2 asg Sl
R:FTHXANXN BTRRNT =T J—HrIr—L
e s t 3 | BEMEKR 2:01.4 6-6-5-4 |35.2| 99.3 | 7 454 | HESE (BH)
3Py o EXRZALR g 56.0 (7E) o |BEREHILY
LNn—ErTv— BIYN-NN-3F% J=HrTrp—L
- N AHEEE : 57— BHEC (/)
alzlg|lv—oLy b5 3 e (21.011/.5 5-5-7-4 |35.3| 97.2 | 1 (f?g) Aiab
gL h—Y BHA-NTrE—L J—HTp— L
- N FiBEXR :01. -12-12- . . BOEY (EXR)
slgli| v=—Anxa> 3 ;_0 2(;)1@7 12-12-12-10| 34.8 | 96.2 | 6 z:g;t ﬁmgg
RN—E>Sv— BT7T4T774—> H¥RAEHE /XX
LEERAH :01. -11-8- . . FIEREE ()
617110 B s e 4 3 57'?5.0 (21011/;9) 11-11-8-10 | 35.5 | 94.2 | 8 (4_520) il
LB/ NT=K B:=2 /% KA RS
SR t 3 | SHER 2:01.9 6-6-8-8 |35.4| 94.1 | 12 | 460 |HEFEIZ (%ik)
7 4| ¥—KLs a2 x 56.0 () © |TATLRLIST @)
FATAT v — BTN TINTHAR HE77—L4
. 8 Elespac| : —10-11- BAE (Em)
8 3| 7VZ&LAA-X 3 e 2(/(\11*? 8-10-11-12 [ 35.3 | 94.1 | 11 (ﬁg) i
.47 RNT—ILEY B:IOXNF—FK AT
[N . IRFHE :01. -4-5- . . EEF AN (ER)
9 g | PTIVVaEa— 3 s 2(/(\)1*)9 4-4-5-4 | 35.7| 94.1 | 10 (4_528) el
RFA—TAINT b BiLALF— b FrlbEF X Ty —L
5 . 4 3 | AlllfEEA 2:02.1 8-8-8-8 |35.6| 92.1 | 9 496 | AEIRER ()
10011 | BT =71 —> 56.0 (11/2) 4 | B HF-L=—22y
R—5—Y97 B:TFART4+—UZX (B) #AEIA-FKL—Ya>AET7
= K5 4 3 | fEKA— 2:02.2 1-1-1-2 |36.3| 91.3 | 5 486 | MFEF (ER)
1[5/ P7 F7L 5.0 (172) 1) | B) ¥rOvbrTr—n
LN—YI34 B:TET J—HrTr—L
P S # 3 | M. FA-0O 2:02.2 8-8-2-4 [36.2| 91.3 | 3 472 | EEFT (Ei)
12/ 8|12| #/ > 7 A& — 56.0 (2 E) o |, @ gsv92
R:F4—TANNT7h B:TULEXFTINv— HET7—L
@ 71 L
) 47.1-35.3
NA>24 L | 12.8-10.9-12.5-12.0-12.9-13.0-11.8-11.8-11.4-12 .1
® I —F—EBIERL
13—7+— (¥6,7)-5,8,9-(2,4) (1,3,12)-10-11
20—F— 6,7-5,8-9(2,4) (1,12)3,10-11
Gol=5r= (x6,7,5,12) (2,8)9(1,4,10)3-11
43—+ — (6,%7,5) (2,8,9,12) (1,4) (10,11)3
[ N3
BB 7 510M 714K 5-7 400M e E 5-6 670M JEHE 2-5-7 5,490/
8 B 7 180F9 2-7 1,670H B E 5-7 970M B 7-5-2 22,140
5 150 2-5 1,080M B H 7-5 1,690
2 440M

ABICOVWTRDTEEERROODE. TR LIV,




